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Guess Paper – 2010
Class – X
Subject – Maths           

Q1.
 In an A.P., the sum of its first n terms is n2 + 2n. Find its 18th term.
Q2.
If sin[image: image2.png]
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, then find the value of (2cot2[image: image6.png]


+2).

Q3.
State fundamental theorem of Arithmetic.
Q4.
 In Figure 1, two circles touch each other externally at C. Prove that the common tangent

at C bisects the other two common tangents
[image: image13.png]                                                                  P          E        Q                                                                               

.                                                                             


                                                                   A      C             B
Q5.Check whether 7n can end with digit 0, for any natural number n. 
Q6.
QR is a tangent at Q to a circle whose centre is P. PR (( AQ where AQ is a chord through A, the end point of the diameter AB. Prove that BR is tangent at B. 
Q7.
Find a point on x-axis which is equidistant from A(3,-5) and B(2,1).
 Q8.
Use Euclid’s division Algorithm to show that the square of any positive integer is either of the form 3m or 3m+1 for some integer m. 
Q9.
Which term of the A.P  5,9,13,…… is 81? Also find the sum 5+9+13+……+73?
Q10.Prove that: 
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OR

Without using trigonometric tables, evaluate the following:
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Q11.
The line segment joining A(2,3) and B(6,-5) is intersected by the x-axis at a point P. Write down the coordinates of the point P. Find the ratio in which P divides AB. 

Q12.
 Construct a triangle similar to a given 
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 such that each of its sides  is 
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of the corresponding sides of 
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. It is given that BC = 6 cm, 
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Q13.
A(–1, 2), B(4, 1) and C(7, 6) are three vertices of the parallelogram ABCD. Find the coordinates of fourth vertex .
 Q14.
If “h” “c” and “V” respectively are the height, the curved surface area and the volume of a cone, prove 

  3πVh3 –c2h2 +9V2=0
Q15.
A hemispherical bowl of internal diameter 36 cm is full of some liquid. This liquid is to

be filled in cylindrical bottles of radius 3 cm and height 6 cm. Find the number of bottles

needed to empty the bowl.

OR

Water flows out through a circular pipe whose internal radius is 1 cm, at the rate of 80 cm/second into an empty cylindrical tank, the radius of whose base is 40 cm. Byhow much will the level of water rise in the tank in half an hour ?
Q16.(a)    The sum of first six terms of an A.P. is 42. The ratio of its 10th term to its 30th term is 1:3. Calculate the first and the thirteenth terms of the A.P.
 (b)    Solve the equation for x,  1+6+11+16+….+x = 148.
Q17.
A man standing on the deck of a ship, which is 10 m above the water level, observes the angle of elevation of the top of a hill as 60° and the angle of depression of the base of the hill as 300. Calculate the distance of the hill from the ship and the height of the hill.
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